\J . ' el R/M
" Nl .-‘-( 646& T, \/thca 1
2) 35 = 3% !
.2/3 : i L 3’5_2_
3) 6)( = X% L
Rewn'f-( erch M vatonal 'ﬁrh

4) Yx7 = x

-5y
= Uy *®

)’

d
) &
Sechon 3.0 Derivafive Ru'ls

fteldi=p

ﬁ[x]=1 0%([0(]: C

4 [cfw] - ¢ ‘¥ (9

] nx

f)  g(0] = £ 5 g)

Tev: Fink £ F £ = 3+ T - 6+ 2
: £ )2 + 21x°- ¢

X~ =




){"“x 'S ‘a e -‘-)‘f\?m.&v\-"
g_,fi .4_.[3 ] % wt Cuv"’/’ use  fhe
”b( fules | we JV\“" lear ok

(we'll leorn s 1n 3.20)

4 3.2 2
ol T L)( ]: 3 A X

.2

I3 (j'J; ](;nd \L]'
I ¢ L el
Y= )("‘ > FGITR S
_ I ”'7.‘
Ej 2 x «— po Vleljﬁ"“v" exrom.a‘h lh our
AEEEEI ans weys
g W
( \ [ P
T — "'&Jt" WO‘"/‘ Vhdlu'
‘j ZJ‘)-( = S )

end wm’* Ved Ca'




rh

3]l A 3
\/ O y
u
/ I 3] |-
1 e -
\ 9 3
= - -
é -
. ~ g 1 - B \\
/ 5 b, 18,40
N /’
st






